Unit 8:  Who wants to be a Millionaire?

Answer Key
	$100

yes
	$200

yes

	$400

no

	$800

(0, -6) and other random answers 
	$1500

Slope and y-int = 4 



	$3,000

(0,5) & (10,0)


	$6,000

m = -1


	$12,000

y=3x


	$24,000

m= -3
	$50,000

3 feet per yard



	$100,000

(-1, 3)


	$200,000

any graph with more than one y-value for an x-value

	$400,000

y=-7x -16

	$800,000

y =2x + 2 

	$1,000,000

 (0,-4) and other random answers



















































































































